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Example 1. GIRANST a, b, ¢ 31 d A3 0 ANGE

IURIINNERS?
Q o a o 54
GEYUS. (RNSYa SH Y b IRT90°

- BUEHIMAN PQS:
' 40°+ 90°+ ¢
c

- [HAIMAN QRS:

70°+ 90°+ d
d

Example 2. Gi&i0N S’]‘i%i a b 8% ¢

180°
180°< 130°
50°

180°
180°< 160°
= 20°

(3 AB BENUNATS (i

0 BeNgnsvasg 4

=)
GEEW.

A8aI{Hman 0AB st 0A R 111w AB ARNURIHTS 181:1AMS § 0AB = 90°9

2563

U s

90°+ 20°+ a = 180°

a = 180°<110°
= 70°
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AH{ATMAN OAC et 0A Bl OC thmiuediigil shthfmana sma I b= c
102 2b + 70° = 180°
2b =110°
b= 55

LU ¢ = 55° 0

2AMNINN 2. GIRANNHHRENAHEANIY
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1

c

(N5 0 AENRRIU RSN 4

LY.

- NSHJ{FIMAN OABS

IR 0A B4 0B Tyl tehmfitmanaymn

i a=0
i
a+b+100° = 180°
iR a=b,
2a +100° = 180°
2a = 80°
i a = 40° B
S b = 40°

<,

INWUSE AC AnaRARIUATINY 18138 ABC 18] 90° 9 g1

- NSaj{HIMAN ABCS

a+c = 90°
40°+ ¢ = 90°

c = 50°

1:2(,
o

files
=X

40°+ 90°+ d = 180°
1AMS d = 50° 10
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(c) (d)
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RITENW. (ATS
OP = OC {11
§CPO = §PCO (AL x)
@G,Fq\ﬂ o o C
#0Qo = §Qco ().
TENWUHWHEA CO MAPH{HA D 1ANS
‘é:’POD = x+x
= 2x p
Homing D Q
‘E?QOD =yty=12%
HE
8§ POQ = 2+
= 2(x+y)

= 2x8PCQ
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2a=2b 4 a= b

& tmzﬁﬁtmﬂﬂm?ﬁ Aud Qﬁ (cyelic quadrilaterals) A

18 ST EE NSRNYAL 180° 188w H

a+c = 180° D
81 b+d = 180°
B
s . C

aUtiEA|EN AC 841 BD 1 mund tHuandthwg
AB 1N w 1 §1G: § ADB = § ACB (=w)
AeMiE Gom:sianilgig)s muditw x
88z

A
AR{ATMAN ABD 1AMS
1 D A

oo}

w+z+(x+y)=180° y
NEYU ' q

(x+w)+(y+2)=180° ‘b
Hige %

§ CDA+ 6 CBA = 180°

@)
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GUASANEN{MENRI{ME SHWA 0 NERIVEIIHINE 4
u 1 &* 2

(a) (b)
35°
O,
: —

g |z

@ hwdsialimnsganaingw giasdsiufpiaime 1nmns
a = 35°

(b) b 8NE 25° MISEANALGA 1ANS
b =25

8 a SAYUISIPRER O ANAINWRESMMYWY 25° g1ge

a = 2 x25°
= 50°

211100 2.

msﬁ%ﬁﬁﬁyLmﬁmmLmﬁ [ENHSHSE O LR AIVAS TN 4
u lcs‘ Py 9

@ (b) S
ARG ; ﬂ\
‘
|
C

GBI,

(@ INWENITYE ISINHERIMANSIANHIEH NSRUYRIE 180° 1813IANS

a +80° = 180°
a = 100°
3% h+110° = 180°

b = 70°
17



AT SN ATWASSAIN M ngiRinngaannigpuii)snidavianun
BUNT N HE wantiimuiens: aphinugmistitinn:gigl

(b) A8 o Bind 210°3 iwHMSAYURHRE MsiNLRIRHET NS

ja
c¥3 b

AN RN E YL 1ANS

2¢ = 210°
c = 105°

§ ¢ 88 e NISRUYNATE 180° MM B HAISIRHGHIMANGIE AR
P8 1AMS | |
c+e = 180°
105°+ ¢ = 180°
e = 180° < 105°
= 75°
A8 65EMAN BODC ¢ SHUBHIMANNSRUYATA] 360° tANS
d+e+210° 20° = 360°
d = 360°<210°<20°<e

= 130°<c
= 130° < 75°
= 55°
(-4
21NN 3.
' < 12 a o D
ARHN{MYE UHHAB ANHRHGH IWEANG 0
Rengaivedigh 1 GHABMANAJIHOARIY A\
a 1
B
sigw TR
A8 {A1MAN OACE st OA B OC thif) 181:
OAC ACN{HIMANAIHMEHT Hil: a = 50° N
C

g1 BiMe{fi1MAn OAC TAMS

a+b+50° = 180°
b = 180°<50° <a
= 80°
TN AB IERBRHIVAIIEH 1812 ACB ETANT 1AMIS

a+20°+c = 90°
c =90°<20°<a
= 20°

INWHERTAYW 1ANS d = § OAC = 50° 9
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#G6. BITAREY x ARENTMYRYWINRI{MY 9

(a) /@ (b)

2x +70°
h 6x—20°

#G7. AUHN{MY Wh o chanigl Eu b /\
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BD =DC 241 PAB RENUH 9 M
STV M AD K UNENE CAP?

u "N NI 6V <4 1 1

4GS, AUHN{MY Wh o thanigl Exn
O 1
' OP = PQ = QR
, \/ L GIUINDE 0P 88 QR NUNATITE |
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(a) ADE (b) 4 DAE () HEAB (d) 4 ACE
4G B
45°Y
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X
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0
Q

AUHN{MYNUE WAINE VPO WIRRH 0,5 NOM = 20°
SUY MoL = 64°
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a. OLQ

b. NQP

c. NLP

d. NPL

[~ 1. n °
4, ﬂgﬁ 84 ueny.
@ I Qo ' 5] R
L FUTEHT:NT ﬁﬂj‘@ﬁjﬁﬁﬂ\]ﬂﬁﬂﬁﬁTEﬂﬁ’]Si‘éﬁEﬁmmSgﬁO
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0 T
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(a) PT = RT

b {BEman TPO BA{BEMAN TRO th{RsMANGS M
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oh R
(.e. a=»n fji‘igﬁ)

(Alternate Segment Theorem/tangent-chord theorem)
FIH AT E POS 1 (AR 5

# SRP = 90°
({ENs PS NHUARA Y HEGS

HPSR = HPQR = »°

G2 | T
%cﬂo P

# SPR = 180° < 90° < x

= 90°< x°

e
ha

# RPT = 90°< (angle SPR)

= 90°< (90°< x°)

3.0 BEMSHRAENNUADE oty A‘D

AX x CX = BX x DX

B C
RIS,
AA{BEMAN AXB §H{HEM AN DXC IAMS
1 BAC = % BDC
#ABD = §ACD

Q Q
ENI AXB S13 DXC mtﬁsmnnt’dﬁgﬂ (RTNS

S L = AX.CX = BX.DX

BX CX
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AX x CX

PX x PX
U
ACH

AX x CX = PX?

2911300 1.
GIRANAS & HRENIMY?

LY.

1f1MaN ToR 81 Top tifitmandsye gig:

8 TOR = 65°
1w TR thudtsteiSiigi 101w orR Al 1ms
§ TRO = 90°
B
a = 180°< 90° < 65°
= 250
291MinN 2

mHL§ﬁ§U9 tangent-chord Niit El‘} 1HMS
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x = 62°
IENWHEE TA 8 TB :SHNAI 1M Hi6: (Fiman TAB A fimanasngd tams
HABT = x =62°
Hige
U S

Y+ 62° 4+ 62° = 180°
y = 56°

2911N350N 3.

GINANIHN STl X ] y HEnAIU?

&% U
1

[~}
GrYs.

W AT USIAYS 1ANS
AT? = BT.DT
36 = BT x4
BT =9

SR

y+8 = BT =9
y = lcm

LENWHNEHT AC 83 BD [UIOE 1AMS
AP.PC = BP.PD
25x = 1x4

x = 1.6 cm
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#G2. IuﬁﬁﬁrLﬂS‘lﬁ'tg’]ﬁﬁﬁjfiﬁ‘qﬁﬁijﬁmﬁthﬁ%

(a) A (b)

vs)

(©

#G3. HUHN{MY UIA TAD thugatisa D

@ UM® a=b

A
(b)  UNMT {FIMan BTA 8% N
ACT {BIMANE G il '
o N
C
BC = 5cm

BIRANSUTNANE AT
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#G4. WATRIMAN ABC thiRtMANa Sy

USIH AD (ASIUSIURH BAC

A
()  BIUEMO USIH AD AMERHARS
SURIIH
o ) o4 C
(b) GIAANSS BDT 1 DT A .
USRNEELE T D

#GS. A
In the diagram, TA and TB are tangents.

W Find the angles a, b and c.

/’ Give reasons for your answers.
‘ T

B

#G6. AT and BT are tangents to the circle,

centre C. A
65
P is a point on the circumference, P
as shown. T
Angle BAT = 65°
Calculate the size of B

(@) x (b)) © =
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#G7.

40,

In the diagram above, not drawn to scale, ABCT is a circle. AC and BT are
diameters. TP, the tangent at 7, meets BA produced at P, so that £ APT = 40°.

Calculate, giving reasons for all statements, the size of

(a) ZBTP
(b) ZBAT
(¢) ZABT

(d ZACT
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